_'_'_j AL
S /

|
L 1 B
N
~— SC’D -— © Lo Lo
ol 4lo|® | e | B _ T O <«
S O-Q‘S S| n ()]
a Z S}
o
1 p L
| A
f = 13
L/

' \_—d3 = —
ni ) N2—ARILFDEVM X E&

HEE| FUOE d1 d2 D1 D2£15 D3 t L1 K z
50 51 68 155 | 1200 | 100 70 | 135 18 14
75 76 98 211 | 168.0 | 125 9.0 | 150 19 14
100 101 123 | 238 | 1950 | 152 9.0 | 150 19 14
125 126 148 | 263 | 2200 | 177 9.0 | 150 19 14
150 151 174 | 200 | 247.0 | 204 95 | 170 20 16
200 200 227 | 342 | 2990 | 256 100 | 165 21 17
250 250 278 | 410 | 3600 | 308 110 | 180 22 19
300 300 320 | 464 | 4140 | 362 115 | 190 23 20

B {I: mm

Hge| MUE| ni-ds n2-Mx € d4 ds D4 D5 L2 %*ﬁﬁ%
50 4-19 | 4-m16x65 | 19 62 160 120 31 7.1
75 4-19 | 4-m16x85 | 19 93 193 155 32 11.7
100 | 4-19 | 4-M16x85 | 19 118 220 182 32 15.0
125 | 6-19 | 4-M16x85 | 19 144 256 212 32 16.2
150 | 6-19 | 4-M20x90 | 23 169 283 237 33 22.0
200 | 8-19 [ 6-m20x 100 | 23 221 338 292 40 | 280
250 | 8-23 | s8-m20x 100 | 23 272 394 348 41 40.2
300 | 10-23 | 8-M20x 100 | 23 323 445 399 42 | 494

BE 1. A—h—HE5

2. VU50~VU150IZfE AT BRI, EHRELELTRT VPE ($950cm) T HEALIEELY,

3. I5oVlE, KERTT,

4. KK BEUGHLEROHM B IXFCD450-10E L, BT/ A— L RFHLLFET,

5. MLk FYrD#MEILFCD400-15&L . BELIRIEAIBEZEL TR YET .

6. TLMDMEIIBREDRFLY-TECITUTL(SBRIEL ., B IEJIS K6353 (KEAT L)
[ $BAICELET,

7. FREFHRELTVVEWTXRF. 8ETETY .

RLER{TZ=TS52 P (FCD)
(MFZaA k) (KBTS S4a4T)

RO EREEMS

0095-01-01 /g\

et R =YOR | ; 201651 S




